i apiiigal Transfomnafions Assessment ID: _ib.1242106
| Directions: Answer the following question(s).

Alde|_1 graphed the function f(x) = log(3x) on a coordinate plane. He then graphed the function
9(x) = —f(x) + 3 on the same coordinate plane.

How does the graph of f(x) change to become g(x)?

A. ltis rgflected overthe B. ltis reflected over th itis reflected over the D. Itis reflected over the
y-axis and translated y-axis and translate x-axis and translated x-axis and translated
3 units up. 3 units right. 3 units up. . 3 units right.
~{W+3
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Refle cfover x~axi’s

Describe the transformations of f(x) = v/x that result in the function gx)= =yx ¥ 2.
v s e

fePle clover x~ax s

Select ALL that apply.

@ he graph f(x) has B. The graph f(x) has C. The graph has not D. The graph f(x) has
been reflected across been reflected across been reflected. been translated up 2
the x-axis. the y-axis. ’ units.

E. The graph f(x) has he graph f(x) has G. The graph f(x) has
been translated dow been translated left 2 been translated right
2 units. units. 2 units.

Select the statement that is true for the graphs of all functions g(x).

A. Thegraphofg(x+1) B. The graphof gix+1) C. The graph of g(=x) i he graph of g(—x) is

is the graph of g(x) is the graph of g(x) the graph of g(x) the graph of g(x)

shifted up 1 unit. shifted _rlght 1 unit. raizlsected over the x— ;(—ifilsected over the_y—
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Assessment ID:

Graphical Transformations
Directions: Answer the following question(s).

4 , .
The function (X} is defined by f(x)=x ? . The graph of the fU"CﬁQ[i..;g-_ (x) , defined

by Q(X) = kf(){) +h , is shown on this xy-coordinate plane.
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What are the values of k and h?

Iluminate Itembank™ Continue: Turn to the next page.
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" Directions: Answer the following question(s).

raphical Transformations Assessment ID:  ib.1242106

— a2
A function is defined by f (x) =X The graph of the function ¥ = g (l‘) is shown
on this xy-coordinate plane.

y
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Which equation represents the relationship between the two functions?

/ lef-3
A g(x)=Ff(x)=3 Bog(x)=f(x)+3 @(X) =f(x+3) D g(x)=Ff(x-3)

Trinity claims that the graph of the function g(x) = f(x — k) is located | k| units to the right of the graph
of f(x)-

Which statement best describes Trinity's claim? {‘
A. The claim is never B. Theclaimisalways C. Theclaimisonlytrue( D. Theclaimis only true
true, since the graph true, since any value for k<0, since forgk = 0, since
of f(x) is shifted up or of k will shift the positive values of k negative values of k
down by | k| units. graph of f() to the will shift the graph of will shift the graph of
right. f(x) to the left. f(x) to the left.

3§ kis poshe
£L6) moves-nigh-
k= f (’C'@ ﬂ(ﬂ)"’L 2
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Assessment ID:  ib.1242106 o
Graphical Transformations —] \

Directions: Answer the following question(s).

The graph of linear function f(x) is shown on a coordinate plane.

f(x) 1\)’
5

A

] u{))\ s Sameasﬂ\gh”l,l

-5
Y

A

Jamal claims that the graph of f(x) + 2 is equivalent to the graph of f(x + k). For the case where
Jamal's claim is correct, what must be the value of k? €(X‘ ]')

A 4 @ -1 C. 1 D. 2
B The graph of a function, f(x), is plotted on the coordin Select two of the following
functions that would move the graph of the functi the coordinate plane.

f(x +6) B. f(x)+4 @(x—3)+1 D. f(x)-38

A
(@ﬂx—a E fx+2)-7

@ Which statement is true for all functions f{(x)?

@Y he graph of —f(x)is B. Thegraphof-fix)is C. Thegraphof fkx)is D. The graph of fx) + k
t

he graph of f(x) the graph of f{(x) the graph of f(x) is the graph of f(x)
reflected over the x— reflected over the y— shifted left or right by shifted left or right by
— axis. w(Mj:T(:N; 5 |kl units\y ﬂﬂ )os | k| units. Ly ~
_ a hor;zondal !
What is the value of -3£(x) if f(x)=7x—-2? . cal"l;_
A. 21x-2 —21x+6 C. 7x-5 D. -23
[lluminate Itembank™ Stop: You have finished the assessment.

Generated On October 25,2017, 6:35 AM PDT Page 4




